Acecount current

Account current i¢ a technique, used by the bugineseman to

simplify the calculation of interest in regpect of numerous

trangactions trangacted between them during a particular

settlement period.

N

[n case of OP. balance in account current Statement then we should Consider that dayin
counting of NUMBER of days. whereag in case of due date of other trangaction Counting
of days will start from next date after due date.

[n case of cash transactions, transaction date & due dates are always same.

[n case of Bills of exchange we should add 3 days of Grace, whereag in Case of normal
Saleginvoice Never add any Grace days.

[F the due date of trangaction ig after the settlement date, then it will be defined ag Red Ink
trangaction. In thig cage [nterest / product column will be reported in (~ve) value or number
of days & Product of such trang, is to be recorded in opposit Side that means if original
trangaction reported in debit side then its product is to be shown in credit side.

If there is any Return (Sales return / Purchase return) then always check the date of
return: -

(i) [F the date of return ig before the due date of original trangaction then due date of return
will also the due date of Original transaction.

(i) if the date of return is after the due date of original trangaction, Then in such
case we should consider the actual date of return as new date of return.

If question do not specify that ‘against which lot return was made, then always
assume that returnis out of Latest Lot.

Under Epoque method after recording of all Transaction ascertain debit / credit balance
then apply time weight For entire settlement Period

. Since Epoque method is opposite to forward method therefore if Dr Product is > Cr

product we will Pay interest & If Cr Product > Dr Product we will receive interest.



3 methods of account current

[nterest Product Balance of
table method Product
method method

Jab debit n credit balance ka rate
of interest alag ho to is method ko
use karenge.

Process ig same in both the method, only in last column:
- [st method main directly interest calculate karate hain.
- Product method main hum net interest lagt main calculate karate hain.

(¢ method main har trangaction

ke baad balance calculate
karenge “specifically debit and
credit balance nikalo” phir debit
n credit ka alag alag product

account prepare kar rahe h ain |Sllge nikalo aur alag alag interest

caleulate karo.

Account current main hum personal

yaha sirf bo transaction aayenge jo

personal account ko affect Kare. Agar Bank bala question hai to

counting of days karte time humegh hum

[glige agar BR honoured hoga to bO trangaction date se counting start
karenge aur next trangaction date ko
account current main nahi aayega. exclude karenge.
. . . Eq.
Lekin agar bo dishonoured ho jaye deposit No's of
: d -
to usko yaha record karna hai. el e

(8-04-22 ['7 (do not consider 18-04)

Last trans. Main last trans. Ki date se settlement date

BR dishonoured ki trangaction date

dono ko counting main Lena hai.

a nd due date hum egha Sa m e H Og i. Eg. lagt tran. Date- 09/06 and settlement date is

30/06 gono. of days. = 30-8i.e 22 days.

Ye rule partnership par apply nahi hoga



in account current with for period ended

Interest rate

Tran. ue . 0s. Interest/ ran. ue . o0s. Int./
Date gate Particulars Amount hD‘agsOf Srztriigef ;afe gm Particulars Amount gagsOf Fr;ro i
SO0 | 550%,0‘9 2S00 W\( [0-S
ToInkevest |51, lQQoxo| 26 \ 3¢
(8500& x1d: ) Ne+ Saeis 4 &L
365 Aebit Prodec — —_—
&

@“6 SGY\O«D

X2 1N Fount Carpeny Wit Vaxdhuwrn Fov Qv - L nded 3 1R Re2s

kR.a T:=la/- Pq}

. Nos. | o
Dqte ?0\1-\’1(&&\. Aw + 4 [nt Da+e Pa-s +icay Ay | Nos- Iny.
TTL"S. Dye defs Teans] dus d=15
201 2012 |4y S ares Seco@ | |) 150(- 85
lolta |13 11 B; Puren. [2seso |9, [ 28762
e | 2102 4y gndesess 23284 -
9 :
2sh |asfit DT Cash \%lexﬂ 3¢ |38 20
Suvrlys 4 deli+
- = |int. over Cvedt| — - (23248
nteres+
4
3‘\'{ 3’)’1 B7Cq5}\/ 315')\32 :
bal ¢l d =
. . SI Q d
600’232% \5& % 563231% s &%




From the following particulars, make up an Account Current to be rendered by Mr. X to Mr. Y on 31st December,

WIng interest into account at the rate of 18% p.a.
01.07.2016 Balance owing by Mr. Y %600
30.07.2016 Goods sold to Mr. Y (Credit Period allowed_1 month) 3300
01.08.2016 Good purchased from Mr. Y (Credit Period received 1 month) 3200
01.09.2016 Cash received from Mr. Y Z100
——
01.09.2016 Mr. Y accepted Mr. X’s Draft at 3 Months date 3400

You arerequiredto prepare the Account Current according to interest on individual transaction under the Forward
and Rarlaannrd mothndc

Y m_dlc Carremny Qi X Fov Poiyied €nded 31\ 121 ¢
olfeq]e1e ) —— 21\v2 ic (R-0-L:18/ V9
g:u ‘a\: Pav}iCulay A mé. '&6‘&;? Froduc ¢ T:(::;_ t‘:n Particul avs | fmeunt l\;:,z' Produce
<
il |ilx [Fo bal #d [Eao [O| OO | [g o | by Putan| saq [¢a 13<eo
117 26| 0 Gales | a0 (4] [1g3e0] !0 [1E|B7C0N [ les (3 [€an
Sy s 1(s ‘4//’-(37f>/ﬂﬂc hao 157 82&ea
-| = |Cy-Produce | — - \'qum ﬁrcduq—-d,.
oVpr Mebit = | = | Bt ams- - |- |3€8x»
f— 492 2 v
3lic| 31y "h9 o ;/ \&ydays
( (oRAXIb7)
< slhz|uli| by bad crf RU9-3 | ~ |-
IYy> 118590 0y92F (s
L
313 +38A - €/

\Fm’(,&a'w\ W\(/H/\.ac])



Y W Gle Carvemr MR X By the PRviad bwnded 31211
Nosd | prosuce

N6S .
dq? Produce] Tren | des Pavticulavs | fasent |00
date | date azs

g:-n ol Pavkicwar | Amt

”9- ﬁ’l hb.ﬂwo( Cas |18y |llovad (8 hlo b/chh, ddo (|

P

A |38 | ds Sares | Joo |3 |3690 s |ifo|br <ash |1ow |12/ ¢ re0

i[5 |ufie| By B | D |25 | 10t

N oakii ) I I

dv. Porodcck

(124284314 2013113
2l ulafey s @19

Praduct g -
N3 Aovit

b Pr 18747




Epoque method

(. agar hum ko op. balance diya gaya hai to Hum No. of days - O lenge

2. agar settlement ki start date O1/O7 Hai aur trangaction ki due date 30/08 hai
to no’s of days 61 hoga (31-O + 30Aug.) naki60 days (3[>—t><?>0)

3. Yaha amount Column main debit side R90O0 total Gaya aur credit side ka total
R 700 Hai, to Hum difference amount 200 Ke liye Product Column main
O1-O7 to 31-12 Meang |84 days Ka Product Calculate Karenge.

4. ls Method main Yadi Koi Red ink trangaction hai to‘usko uski due date se
settlement Deriod Ki [st day se Compare Karke no's of days hikal Lo.
Eg. Settlement Period {1/7 - 31/ 12) & due date of transactionis [5/01/202|
Qo number of days = 31 July + 3 Aug. + 30 Qep + 3! oct + 30 Nov. + 31 Dec. + (5 Jan = 199 days
5. Backward method main hum reverse ja rahe hain isliye agar net product ka debit
balance aata hai to hum interest pay karenge aur agar credit balance aaya to hum ko

interest mileage. (matlab ultahoga) (Jis side Fraducs g Lol 9ase3a s Sids
huwm Tht. Recevd queq,,.,)

Balance of product method

Generally used when there is two rates of interest for
debit and credit balance.

Eg.

Bank charge high rate of interest on OD and give low
rate of interest on deposits.

In case of partnership firm interest on debit balance of
current account is more than credit balance of current
account.
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X has a Current Account with Partnership firm. He had a debit balance of
< 85,000 as on 01-07-2021. He has further deposited the following amounts:

Date Amount (%)
14-07-2021 1,23,000
18-08-2021 21,000

He withdrew the following amounts:
Date Amount (%)
29-07-2021 92,000
09-09-2021 11,500

Show X's Alc in the books of the firm. Interest is to be calculated at 10% on debit
balance and 8% on credit balance. You are required to prepare current account as on
30" September,2021 by means of product of balances method.
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Problem 1 (Preparation of Account Current — Method of products)

Following transaction took place between7l§ and gduring the month of April, 2007. (”‘\ o 2aly )
Date Particulars Rs.
14.2087 Amount payable by P to Q 10,000
7.4.20e# Received acceptance of P to Q for 2 months 5,000
10.4.206# Bills receivable (accepted by Q) on 7.2.2007 jghonored on this due date. 10,000
10.4.206% P sold goods to Q (due date 10.5.2007) 15,000
12.4.20@# P received cheque from Q (due date 15.5.2007) 7,500
15.4.2067 P purchased goods from Q (due date 15.5.2007 6,000
20.4.20&F P returned goods sold by Q on 15,4.2007 1,000
20.4.20eZ Bill accepted by Q is dishonored on this due date 5,000

Prepare the Q's account in the books of P.for the month of April 2007.(Assume the interest rate to be 18%.)

> X —
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Problem 4

From the following particulars prepare an Account Current to be rendered by A to B at 31" December,

reckoning interest(@ 10% p.a. (@amount in ’OOO’!
2019 Particulars Rs. 2019 Particulars Rs.
oli— - -

July 1 Balance owing from B 600 | Sept.01 B accepted A's Bill atg_months date | 250

July 17 Goods sold to B 50 . | Sept.1 Cash received from B 350

Aug. 1 Cash received from B 650. | Oct. 22 Goods bought from B 30

Aug. 19 Goods sold to B 700 | Nov. 12 Goods sold to B 20

Aug. 30 Goods sold to B 40 Dec. 14 Cash received from B 80
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Problem?2

Mr. A owed Rs. 40,000 on 1%t January, 2007 to Mr. X. The following transactions took place between

them. It is agreed between the parties that interest @ 10% p.a. is to be calculated on all transactions.

Particulars Rs.
15 January, 2007 Mr. X sold goods to Mr. A 22,300
29 January, 2007 Mr. X bought goods from Mr. A 12,000
10 February,2007 Mr. A paid cash to Mr. X 10,000
13 March, 2007 Mr. A accepted a bill drawn by Mr. X for one month 20,000

They agree to settle their complete accounts by one single payment on 15" March, 2007. Prepare

Mr. A in Account Current with Mr. X and ascertain the amount to be paid. Ignore days of grace. (MAY

05)
MYA M Al Cav- Wi X B Pyiod tmded 15]3)oq ( ReT:1s7)
'\12‘((/ ‘t;f],c, Paztic. am x- ';ﬁ;} prod*™] S Oie| Partical. amx. | Neg | Predusr
l <
W otlor [+ Bay vid | Gostd | TY |29k |29/~ [291s1 | B Pusnes | [9aes 4y [sue
/ - afle
Islol [isfot |40 S ares H3es|59 (R 1 | BCasharc |losen|33 |23
151> |\s)3 doOnx-ar<|1o92. | - -
@W/ 13)2 131y BRIK 9/c [RocenD (23) S3s)
> Sutrlys & d¢
- | o |fredackover | T - 39%9?
cr poducr
1515 [15V3 [B7Cashare [R1392 [~ -
'R
(Viwa| ki Baws han )



: 7
% Ist January, 2020, Kamal s account in Vimal's ledger showed
4 Lal bl d

balance of Rs./5000. The'following transactions took place between Vimal and
Kamal during the quarter ended 3/st March, 202.0:
2020 Rs.
_Aon. |1 Vimal sold goods to Kamal +<\ fafes — 18,000
//dﬁn. 14 Vimal received a promissory note from thczMal due af:e;}] l:n/othgM _, 15,000
//Feb. 0/ Kamal sold goods to Vimal &7 Juv 30,000
//Feb. 04 ( oul4 Vimal sold goods to Kamal ¢ seies 2.4.600
. VIDHYODAY
Feb. (;7, / o1 ’J’?amal returned goods to Vimal 3,000
March 0/ Kamal sold goods to Vimal Puv 17 16,300
March 18 Vimal sold goods to Kamal = Sales 27,000
March 23 | Kamal sold goods to Vimal b7 Pur 12,000
Accounts were settled on 3/st March, 2020 by means of aTaque. Prepare an Account
Current to be submitted by Vimal to Kamal as on 3Ist March, 2020, taking interest into
account @ 0% per annum. Calculate interest to the nearest muktiple of a rupee.
o May 2021 (RTPY ICAI/ Nov., 2022 (MTP)/ March, 2022 (MTPY
Oct. 2020 (MTP) March, 2019 (MTP)
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10 pa. is to be calculated on all transactions.

Mr. P owed Rs/2.000 on Ist January, 202/ to Mr. Q. The following transactions
took place between them. It is agreed between the parties that interest @
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15 January, 202.1 Mr. Q sold goods to Mr. P 6,690
479 January, 2021 Mr. Q bought goods from Mr. P 3,600
A February, 202./ Mr. P paid cash to Mr.Q 3,000
I3 March, 202./ Mr. P accepted a bill drawn by Mr. Q for one month 6,000

days of grace)

They agree to settle their complete accounts by one single payment on I5th March, 202.1.

Prepare Mr. P in Account Current with Mr. Q and ascertain the amount to be paidégnore

Nov. 2021 (RTPY NOV, 2019 (RTPY MAY, 20/8 (RTPY
May, 2020 (MTPY Oct. 2021 (MTP)
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Following transaction took place between X and Y during the month of April, 202.0

April Particulars Rs.
/ Amount payable by X to Y 10,000
7 | Received acceptance of X to ¥ for 2. months 5000
//O/ Bills receivable (accepted by V) on 722020 is honoured on this due date

/6/ | X sold goods to Y (invoice dated 1052020) 15,000

? | Xreceived cheque form Y dated 1552020 7500
R

/5/ Y sold goods to X (invoice dated 155.2.02.0) 6,000

}O/ X returned goods sold by Y on 15.42.02.0

20 | Bill accepted by Y is dishonoured on this due date

T —-——

You are required to make out an account current by products method to be

rendered by X to Y as on 30.4.2020, taking interest into account @ 10% pa.

(assume | year = 365 days)

ICAI Module / Practice Manual & (ICAI)
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7. Prepare Account Current for Nath Brothers in respect of the following O EI
transactions with Shyam: [=
2019 Rs.
I E_ _ ___—
rSeptember o | Goods sold to Shyam 200 | due Ist Oct.
ep Solc = ——
//Oc’rober / Cash received from Shyam 90
= ctober 2.1 Good purchased from Shyam 500 | due Ist Dec.
p Diev. | Paid to Shyam 330
//Bécember / Paid to Shyam /32'0
//December 5. Goods purchased from Shyam 500 | due Ist Jan. —
4
. //Ifecember 10 | Goods purchased from Shyam 200 | due Ist Jan.
2020 Rs.
_danuary | Paid to Shyam 600
/ — -_— ———
L January 9 Goods sold to Shyam 20 | due Ist Feb.

(I year = 365 days)

———

The account is to be prepared upto Ist February. Calculate interest @ 6% per annum.
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